1/0 do/dP

Ratio to ALEPH

10?

10

0.5

200 GeV ee y*/Z (Hadronic)
:l T I T I T I I I I I I I T I T I T I T |:
e |
= =
= .l —
= L -
— ~I~\\.\ —
B \I%#ﬁ ]
E_ ALEPH \.\\ii’\‘f\i: - _E
~  _.o- Pythia 6.428 390 i -
[ --a-- Pythia 6.428 391 Ty |
| --%-- Pythia 6.428 392 = _
= --+-- Pythia 6.428 396 E
~  --%-- Pythia 6.428 397 ]
— --+¥-- Pythia 6.428 398 .
:| , [y | | | | | | | | | | | | |:
:l T T T | T T T T | T T T T |:
- X =
= ey o -
- o ]
N ¥ @ .
_g M /’al“x f’/é - s 7

- .{\ ,j/' o o - *i', . 2 S —

L Sy Y ./ -
B of i
| " 1 " 1 1 " | 1 1 1 1 " | 1 1 1 1 " |

0 0.1 0.2 0.3

Rivet 3.1.0, = 9.4M events

mcplots.cern.ch [arXiv:1306.3436]

N

0.5



	Contents
	Page 1


